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For instance, circumcision by leprosy - YA A9 PAD

Overview

The x713 stated that we cannot say 7wyn X? M7 nwy by a 0I1v» with a woman 7R
2 IR, since we only say N"27¥ by cases which are similar to nv1%2a 7%°n, where we
cannot observe the 7wy unless we are 7m7 the n"9, however here if the woman
refuses there is no 7wy at all.! Mmoo will be discussing the actual source of n"27y
and what it means that we cannot observe the 7wy unless we are M7 the n">.

= 3Wyn XD NWY RIN 1NN \IPA NNT HYVP) NNIYYa NINYOYT 0N 12229 N
The n''9 says that he mentions ny1x2 7% merely as a ‘sign’ (that we require X57
qwyh mrpY woR), however it is not the correct source for n"97y, since when

someone cuts off his n9:72 there is a transgression of an 7wy and a 7wyn XY -
=4059902 2IN9N NN PYIY (3,357 97 naw) NDIIT TYIIN 929 P93 )9P9INTD

As the X713 states in 779927 X' P95 according to one version which is written in
the texts there -

= SPUY NUIN NY AN AYY SIPYT Nabya 19299 XY 0N
And from there (nv1%2:77°1) we do not derive elsewhere that an 72y should come

and push away a 7wy "%, the reason is because we cannot derive it from 777 -
- 75PN DINYSI NNDD P0Y NIN SMIa 372 799 1171993 19 A9nY A

For you know why 779 is so powerful and can be 7m7 a 7wy 0", for thirteen
covenants were made for 77°n; rather the main source of deriving the laws of
n"97y is from allowing 2°8%> in nox°x.

n1voIN asks:

!'See previous °n1 71"7 'oIn.
2 Anmais one of various types of Ny,
3 See 11,72 (Xx¥n) 0127 which reads, MWA oMY WRD ON9T 0°3757 DINR 1M WK 953 NI TR 1YY NYIXT VA2 MM
niwy%. The word Wi is a 0" to cut off a N773, and 171 WK 923 MY is a mwY M¥n. See "W in Naw there *X7 7"7.
4 The X3 there reads, WX TRP 777, MKPT 1K W KM ,AWYN R 071 WY NRT "R DYIXT DR IMT 720 RIOWR XKW
N7 JWYN R AWy ORI ,NT2 AWYn R ,AwYN X2 DR A7) WY NRT TPNRT.
3 Generally an 7wy is AmM7 a 1" but not a 7wy n"%, which means we cannot derive the laws of "7y from nya%2 777,
so even though the X113 mentions it, nevertheless it is merely an example that we require Twy? 771pP? WoR K77, but
we do not derive it from ny1¥2 791 but rather from n*¥*¥2 °k%5. See ‘Thinking it over’.
¢ In the Aw o of 771 (in X2-2,1° (72) MWwKR12) the word N2 is mentioned 13 times. We therefore cannot derive the rules
of n"27v from 7% since it is an exceptional ¥"». Rather we must derive it from n*¥¥2 o°x73.
7 We are permitted to have a mixture of wool and linen (2>nwo1 79%) in our N*¥*X as MOOIN continues to explain. Just as
by n°¥>¥2 0°X92 we cannot observe the 7wy of N°¥°% unless we are M7 the n"Y of (VYY) o°Kk22; the same rule applies
elsewhere that if the only way to be o>»pn the Awy is if we are 7m7 the n", in those cases (only) we say n"?73.
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= 8998 HY PVIN 98 NYLA NYPIY DNV DIPY TYIAN NIYINA DINDI NI 9NN ON)
And if you will say, but by nx 22 2°8%> it is possible to observe both of them
(doing the nwy without transgressing the n"%) for he can make for a woolen
garment, N°X°X strings of wool —

N1D0IN answers:
- DAY DPY VAN SN NV YV YT PNY 13529 N

And the >''1 says that in a linen garment it is impossible to observe both the nwy

of n"¥>x Nx» and the n" of TIWVYW -
= ORI NINY NDONT DINDD 1 DY NIN NYON NN D1PY YWIN NOY

Since it is not possible to observe the 3% of putting n2n in the N°%°% unless it is
8>3, for n»an is blue wool —

mooIn responds to an anticipated question:
= 109108 HYAa HYWONT DIVN 1NV HY POV WIALY 9ION XNOY 91919 13D PN NN

And this we cannot say that it should be forbidden to wear a linen garment,

since it is possible to wear a woolen garment; we cannot make this argument -
- Layan WA T PNT

For that is not considered ‘possible to do both’ —

MooIN anticipates a possible difficulty:
= DYDY 1102 NYIN LIUNN DI (owr xN 97T MR NTINN P9 1PININT XM

And this what the X ) states in n%>n7 P95, whoever places n®>n in a linen
garment in 2°5w" -

8 We derive from n°%°¥a o°R?3 that we say 097y, if the only way to be a>pn the nwy is by being 7mT the n">. However
by n°%*¥ we see that even though it is possible to observe the nwy without transgressing the n"% (for we can make
woolen n°¥*¥ for a woolen 731) and nevertheless the rule is that we can have n°¥*¥a 0’3, so we see that n"27v applies
even in cases where it is not necessary to violate the n"? in order to be o>pn the wy!
? Therefore this is a case of N"27v where it is impossible to be 0»pn the 7wy, unless we violate the n">. [See later in
this NooIN that once we see that by a 10w 732 we allow 0°X22, we also allow n°¥°%2 o°R5 in other instances (even if it
is amaw o»p? war). However the source of 077y is from n%on in a 1nwd 732 where 7wya 0»p2 X"R without violating
the XY.]
10 This would mean that we say n"77v even in a situation where it is not necessary to violate the W? in order to be 2pn
the nwy, as in the case of Jnwn2a n2on; let us say that he should not wear Jnws, but nevertheless we see that he is
permitted to wear 1nwd and have 0°X%3 by Jnw» even though it is IWdKR not to transgress the 1R?.
! There is no reasonable explanation to prohibit people from wearing linen garments; they are doing nothing wrong.
Once they are wearing linen garment they are obligated to attach n°¥*% and n»>n to it. This is a case where it is
impossible to observe the nwy without violating the n"5. This is the source that n"%7¥ is only if in order to be 0>pn the
7wy (of having n%2n) you must violate the n"% of 2°R>.
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- 120555 NYD DIVN N1 KD WA P0INN 11 NIN 190N
He only causes astonishment from the beholders, for people say he is wearing
110w, and the 8723 explained that the reason why one should not place 1702 n°%on
is a rabbinic decree, on account that some may place threads of N XX (in a Jnwd 732)

dyed with 7998 8%p instead of n7an -
- 9915 NNRY DYPN Y9 MNT YIPY YW1 139103 TWAN 5IWN) B1aY NIN 7979 KY 79999

And the X731 there asked, ‘let it only be white threads of nx°X, and the X7
answered, ‘it is possible to use n°x°¥ of its kind (n°x°% 1nw9), as »'"1 said, for 5"
said, etc. (wherever there is an 7wy and a 0" if you can observe them both, do so, and if not, the
nwy is 7m7 the n'"7) —

mooIN responds:
= 1599992 0PY YWON 127 MNN 13D YN NOHN NYON NIYT 1199 INT ONN

Certainly there since there is no nvon, rather all there is available is white, in that
case we say the mxn of white (non-n2n) can be observed by using n°x°¥ of the
same material as the 070 —

nvoIN asks:
- 918 HYA PIVID 1NV YY) INYD HYA 199019 Y S0IN X985 BND N NN NN ON)

And if you will say, but 7717 "1 X 7277 said there previously, ‘n°x°X threads of

wool exempt linen garments, and n°x°X linen threads exempt woolen garments’ -
= 1813592 YWAN 1a07 DMWY 0PY YWON NN 171991019 INNINY

But why do they exempt, since it is possible to fulfill both the 7wy and the n'",

12 99°x% ®97 is a dye which appears similar to n%3n, however it is unfit for n9on. This person is not doing the 7% and
he is wearing 711 Q1P KOW DR,
13 The %3 there had said previously that if one does not have n%an he should substitute for it regular white woolen
n¥°x. Therefore the Xn3 is asking, why does it bother us that he is using 712°X X9, let us ignore the 72°X 897 and consider
those n¥>¥ as regular white n°*¥, which one is permitted to use when there is no n?2n.
14 There is no n72n here (he is using 12X X9p) in such a case we tell him instead of putting woolen n°¥>¥ in the linen
v, put linen N°¥°X in the linen n°%v, so you will be o>>pn the 7wy, and not transgress the n"9. We see from that X7n3
that by n°%>x of a linen garment, it is o7°1w 0P woR (by placing linen n°¥°¥ in a linen garment, so how can the >
say that by 1nw» 133 it is o7°1w 0P R"K?!
1S When the > stated above that by a Jnws 2w n*%v it is 0w 0P X"X, he was talking when there is n'2on available,
therefore the 7131 of N°¥°¥ can only be observed by having 0°X?3. However when there is no n9aon, the X3 there says
that we can put linen nN°¥°X in a linen garment, but not white wool n°¥*X in a linen garment.
163 1%, mooIn understands that X723 to mean that we can use four threads of 127 wool exclusively for linen garment
and four threads of 127 linen for wool garments.
17 The term 7w (exempt) used throughout this MpoN means that one has fulfilled the myn of placing XX in the
garment. He is exempt from doing anything else to fulfill this mxn.
'8 When there is no n?2n (only 129) we should use woolen threads for woolen garments and linen threads for linen
garments, why use wool for linen and linen for wool?!
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since by white n°x°¢ threads, one can use the same material as the garment —

NB0IN answers:
= 19935133 9WANT 90N INTY 12D PVIN 7T DT DN 13929 IIINY

And the n''1 says that it is certainly prohibited to use all four white threads (in

a garment of 11°»2 R5W), since it is possible to use the same material -
= 1NV HYA D9V 12D 99N FVIN NIVT MNP ONN AN

However there the X713 meant to say that two white wool threads exempt a linen

garment if the other two threads are n?an -
= 21909 ) 998 Y 1aY 1Y NYON 17 by DINDD NYYI 935V 01909 NYOINT NNY

For once the nvan exempted the garment so that the linen garment became 298>

on account of the n®>n that is in it, therefore the white woolen threads also exempt

the linen garment -
= 21 HYA 029019 90K DY 125 YVIN 2IYT M)

And since two threads of white wool exempt a linen garment (as we just said) -
- 239998 HYA 190D 33 NV YV 1aY SOIN Y

Therefore two woolen white threads of linen also exempt a woolen garment -
- Y2V NYaN 1 HY OINY DNN DY KYT ) Yy 9N

Even though that there (by the woolen garment) it did not become 2°8%> through
the n>n which is in it —

mooIN queries:
= 918 YV 12D 20N WY INY DY 12D 20N Y ON 1Y T8

And more contemplation is required to decide whether if two white threads of

linen and two white threads of wool -
- 2413'\\’)9 S5Y YV IN 98 YV NV NNY 1M

Are permitted to be placed in a woolen n°%v or in a linen nv9v (without any n7>n at
all). mooIn explains both sides of the query -

19 One cannot use all wool white threads in linen garments and vice versa.
20 He is required to place the n23n in the 1nw» 732 (see previously [text by] footnote # 9). Therefore the o°X73 stage has
already been reached in a permissible way.
21 Once we see that the 7N allowed the o°X?3 in the WD 733, by placing there the n%an *vn, there is no concern for
adding more 0°X?> (the two 127 *0I); once O°K?5 is permitted it is permitted all the way.
22 Once we see that we can add the “»% 127 "1 in a Jws 732 (which had two n9an ") this teaches us that 127 07 are
not 0°X73 (when there are n7an "), therefore we can put JnWs 122 *0I1 in a woolen garment as well (if there are 00
nan), since 1327 " are not forbidden o°8%5 when there is n2on.
23 This means that if a woolen garment has two n?2n >, it can also have two 122 1nw» *0in. This is derived from a 12
1217 (a double wn).
24 See ‘Thinking it over’.
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- NY 1Yo D113 XYY YA NYIN DIPN NPNT NIN 129 Y0IN 23 19N KXY XYY
For perhaps two white threads were permitted to be placed in a garment 1222 X?W
only if there were n»a>n > there, however if there are no n%sn vy, it is not

permitted -
= 9998 YA DIV PNV HY 12D YVIN Y RNT NIY RD N1IYT IN

Or perhaps it makes no difference whether there is n%5n or not, for we have said

that two white threads of linen are permitted in a wool garment -
- DIND2 INAN WY KY NYIN IMN 275 YT 19 X9 1YY XY NHN oNHT ) Yy 9N

Even though that there the nv>n has no effect, for that n%>n in a woolen garment

does not make it 2982, and nevertheless we can place there 1nws *vir. So therefore we should
always be allowed to put two 7% *0I7 in 10w and two WD VI in X —

mooIn anticipates a difficulty with this latter (permissive) view:
= 25190 NYON PN 1PN DINDIA 12D YVIN 1YW 1Y N MYPND PN

And one cannot ask, if two threads of 12% are permitted in 2°K%> even if there is

no n%>n with them -
- 1PTRNNN P NIN IR DIIWIT PTDA NYIN P01 INHN

Why did the & n3 state in M1 that ‘one who places n%on in a linen garment in

2%%w19’ only causes astonishment’, why is this so -
- 59Y M) 129 IN I9IN NYP NYIN NIND 91 IPANRT INVU YV 1Y Y0IN %Y MY 190

Let him place together with the n?5n two threads of white Jnws, so then even if

the n®2n is 7298 XY or plain white woolen threads, it is permitted according to this
view, so why is he 177nm7 17 KoK 1°K?

mooIn responds:
= 978 YV 1327 YVIN IV MY 1DV NNPY THNIY NIINT

For we are concerned perhaps he will place together with the 12°% X7 two threads

of white wool -
$978 HY 129 POIN 71 93 1579 HYIN 10 PAYN PVIN 2IY JIMINY 1920

An they will assume that the two dyed threads are n®>n, when in reality they are

12°R X9p and then all the four threads will be white wool, which is forbidden to be used
in a 1wo T2

Summary
The law that we say n"77v only in a case where it is 271w 2p? X" is derived from

25 This was the latter view in the query just raised by n19o1n; that one may place two threads of 127 n¥ and two threads
of 12% Jnwo in either a 77X 732 or a INWD TA2.
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placing n%on in a INWo garment, for there it is impossible to be 0*pn the 7wy of nYan
unless we transgress the 18? of 12wyw. It follows then that we can even place two more
threads of wool n°x¥°X in the aforementioned jnws 732. We can therefore also say that
one can put two threads of 1nwd in a IM¥ 733, in which n%5n has been placed. The
unresolved question is whether we can put two 7% 011 and two JnWd V17 in either
AMX 9722 or WD vT7A1.

Thinking it over

1. Moo writes that NyX2 79°1 is merely a X152 X7, however in reality we derive
it from N°%°¥2 2°X%3, but not from Ny¥2a 7971.2° Why then did the X773 use Ny %2 797
as a X317, and not N°¥°¥2 o°&Y> which is the real source for this rule?!?’

2. How are we to understand that one may not place four J2% %% "0 in a JNWD 732
and similarly one may not place four 7nws 0117 in a X 732,% but (it is possible that)
one may place two 127 % 01 and two JNWD VT in either a 9M¥ 732 or a Inwo T33;%
what is the rationale for this difference?!

26 See footnote # 4.
27 See yawn w1 'oin.
28 See footnote # 19.
2 See footnote # 24.
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